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Aufgabe 4.1

(a) 24 · 54 = (2 · 5)4 = 104

(b) 0.55 · 65 = (0.5 · 6)5 = 35 = 243

Aufgabe 4.2
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Aufgabe 4.3
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Aufgabe 4.4

(a) x8 · y8 = (xy)8

(b) 4p · 5p · 2p = 40p

Aufgabe 4.5

(a) 46 · a6 = (4a)6

(b) r12 · 512 · s12 = (5rs)12

Aufgabe 4.6

(a) (3a)9 · (4b)9 = (12ab)9

(b) 0.2515 · y15 · 1215 = (3y)15

Aufgabe 4.7

(a) 2k · xk · yk = (2xy)k

(b) 32k+1 · (−a)2k+1 = (−3a)2k+1 = −3a2k+1
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Aufgabe 4.9

(a) 123 : 43 = (12 : 4)3 = 33 = 27

(b) 89 : 0.59 = (8 · 0.5)9 = 169

Aufgabe 4.10

(a) 12s : 2.4s = (12 : 2.4)s = 5s

(b) 0.52p+1 : 0.13p+1 = (0.52 : 0.13)p+1 = 4p+1

Aufgabe 4.11
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Aufgabe 4.12
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Aufgabe 4.13

(a) (2x)n : xn = (2x : x)n = 2n

(b) (pq)k : pk = (pq : p)k = qk

Aufgabe 4.14

(6abc)n+1 : (2b)n+1 : cn+1 = (6abc : 2b : c)n+1 = (3a)n+1
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